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flfoy lfoZl eq[; ijh{kk & 2018 
Civil Service Main Examination – 2018 

 
lkekU; v/;;u ¼izFke iz’u i=½ 

General Studies -I 
 
 

1- Hkkjrh; dyk fojklr dk laj{k.k orZeku le; dh vko’;drk gSA ppkZ dhft,A ¼mŸkj 150 'kCnksa esa nsa½ 

Safeguarding the Indian art heritage is the need of the moment. Discuss.  

(Answer in 150 words)              10 

  

2- Hkkjr ds bfrgkl dh iqujZpuk esa phuh vkSj vjch ;kf=;ksa ds o`ŸkkaUrksa ds egRo dk vkdyu dhft,A  

¼mŸkj 150 'kCnksa esa nsa½ 

Assess the importance of the accounts of the Chinese and Arab travellers in the 

reconstruction of the history of India. (Answer in 150 words)        10 

 

3- orZeku le; esa egkRek xk¡/kh ds fopkjksa ds egRo ij izdk’k Mkfy,A ¼mŸkj 150 'kCnksa esa nsa½ 

Throw light on the significance of the thoughts of Mahatma Gandhi in the present times. 

(Answer in 150 words)              10 

 

4- Hkkjrh; izknsf’kd ukSifjogu mixzg iz.kkyh ¼vkbZ- vkj- ,u- ,l- ,l-½ dh vko’;drk D;ksa gS \ ;g ukSifjogu 

esa fdl izdkj lgk;d gS \ ¼mŸkj 150 'kCnksa esa nsa½ 

Why is Indian Regional Navigational Satellite System (IRNSS) needed? How does it help 

in navigation?  (Answer in 150 words)           10 

 

5- Hkkjr vkdZfVd izns’k ds lalk/kuksa esa fdl dkj.k xgu #fp ys jgk gS \ ¼mŸkj 150 'kCnksa esa nsa½ 

Why is India taking keen interest in the Arctic region ? (Answer in 150 words)     10 

 

6- ^esaVy Iywe^ dks ifjHkkf"kr dhft, vkSj IysV foorZfudh esa bldh Hkwfedk dks Li"V dhft,A  

¼mŸkj 150 'kCnksa esa nsa½ 
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Define mantle plume and explain its role in plate tectonics. (Answer in 150 words)     10 

 

7- Lkeqnzh ikfjfLFkfrdh ij ^e`r{ks=ksa^ ¼MSM t+ksUl½ ds foLrkj ds D;k&D;k ifj.kke gksrs gSa \ ¼mŸkj 150 'kCnksa esa nsa½ 

What are the consequences of spreading of ‘Dead Zones’ on marine ecosystem?  

(Answer in 150 words)              10 

 

8- Þtkfr O;oLFkk ubZ&ubZ igpkuksa vkSj lgpkjh :iksa dks /kkj.k dj jgh gSA vr%] Hkkjr esa tkfr O;oLFkk dk 

mUewyu ugha fd;k tk ldrk gSAß fVIi.kh dhft;sA ¼mŸkj 150 'kCnkssa esa nsa½ 

“Caste system is assuming new identities and associational forms. Hence, caste system 

cannot be eradicated in India.” Comment. (Answer in 150 words)       10 

 

9- ^Hkkjr dh ljdkj }kjk fu/kZurk mUewyu ds fofHké dk;ZØeksa ds fØ;kUo;u ds ckotwn] fu/kZurk vHkh Hkh fo|eku 

gSA^ dkj.k izLrqr djrs gq, Li"V dhft,A ¼mŸkj 150 'kCnksa esa nsa½ 

‘Despite implementation of various programmes for eradication of poverty by the 

government  India, poverty is still existing’. Explain by giving reasons.  

(Answer in 150 words)                    10 

 

10- /keZfujis{krkokn dh Hkkjrh; ladYiuk] /keZfujis{krkokn ds ik’pkR; ekMy ls fdu&fdu ckrksa esa fHké gS \ ppkZ 

dhft,A ¼mŸkj 150 'kCnksa esa nsa½ 

How the Indian concept of secularism different from the western model of secularism? 

Discuss. (Answer in 150 words)            10 

 

11- Jh pSrU; egkizHkq ds vkxeu ls Hkfä vkanksyu dks ,d vlk/kkj.k ubZ fn’kk feyh FkhA ppkZ djsaA 

¼mŸkj 250 'kCnksa esa nsa½ 

The Bhakti movement received a remarkable re-orientation with the advent of Sri 

Chaitanya Mahaprabhu. Discuss. (Answer in 250 words)         15 

 

12- ppkZ djsa fd D;k gky ds le; esa u;s jkT;ksa dk fuekZ.k] Hkkjr dh vFkZO;oLFkk ds fy, ykHkizn gS ;k ugha gSA 

¼mŸkj 250 'kCnksa esa nsa½ 
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Discuss whether formation of new states in recent times is beneficial or not for the 

economy of India. (Answer in 250 words)           15 

 

13- vaxzst+ fdl dkj.k Hkkjr ls djkjcn~/k Jfed vU; mifuos’kksa esa ys x, Fks \ D;k os ogka ij viuh lkaLd`frd 

igpku dks ifjjf{kr j[kus esa lQy jgs gSa \ ¼mŸkj 250 'kCnksa esa nsa½ 

Why indentured labour was taken by the British from India to their colonies? Have they 

been able to preserve their cultural identity over there? (Answer in 250 words)     15 

 

14- ÞHkkjr esa vo{k;h ¼fMIyhfVax½ HkkSe ty lalk/kuksa dk vkn’kZ lek/kku ty laj{k.k iz.kkyh gSAß 'kgjh {ks=ksa esa 

bldks fdl izdkj izHkkoh cUkk;k tk ldrk gS \ ¼mŸkj 250 'kCnksa esa nsa½ 

“The ideal solution of depleting ground water resources in India is water harvesting 

system.” How can it be made effective in urban areas? (Answer in 250 words)     15 

 

15- ^uhyh Økafr^ dks ifjHkkf"kr djrs gq, Hkkjr esa eRL;ikyu dh leL;kvksa vkSj j.kuhfr;ksa dks le>kb;sA  

¼mŸkj 250 'kCnksa esa nsa½ 

Defining blue revolution, explain the problems and strategies for pisciculture 

development in India. (Answer in 250 words)          15 

 

16- Hkkjr esa vkS|ksfxd xfy;kjksa dk D;k egRo gS \ vkS|ksfxd xfy;kjksa dks fpfUgr djrs gq, muds izeq[k 

vfHky{k.kksa dks le>kb;sA ¼mŸkj 250 'kCnksa esa nsa½ 

What is the significance of Industrial Corridors in India? Identifying industrial corridors, 

explain their main characteristics. (Answer in 250 words)        15   

 

17- Hkkjr esa ^egŸokdka{kh ftyksa ds dk;kdYi^ ds fy, ewy j.kuhfr;ksa dk mYys[k dhft, vkSj bldh lQyrk ds 

fy,] vfHklj.k lg;ksx o izfrLi/kkZ dh izd`fr dks Li"V dhft,A ¼mŸkj 250 'kCnksa esa nsa½ 

Mention core strategies for the transformation of aspirational districts in India and 

explain the nature of convergence, collaboration and competition for its success.  

(Answer in 250 words)                       15 
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18- ^Hkkjr esa efgykvksa ds vkanksyu us] fuEurj lkekftd Lrj dh efgykvksa ds eqíksa dks lacksf/kr ugha fd;k gSA^ 

vius fopkj dks izekf.kr fl) dhft,A ¼mŸkj 250 'kCnksa esa nsa½ 

‘Women’s movement in India has not addresses the issues of women of lower social 

strata.’ Substantiate your view. (Answer in 250 words)          15 

 

19- ^vke rkSj ij dgk tkrk gS fd oS’ohdj.k lkaLd`frd lekaxhdj.k dks c<+kok nsrk gS ijUrq ,slk izrhr gksrk gS 

fd Hkkjrh; lekt esa mlds dkj.k lkaLd`frd fof’k"Vrk,a lqn`<+ gks xbZ gSaA^ lqLi"V dhft;sA  

¼mŸkj 250 'kCnksa esa nsa½ 

‘Globalisation is generally said to promote cultural homogenisation but due to this 

cultural specificities appear to be strengthened in the Indian society.’ Elucidate. 

(Answer in 250 words)                       15 

 

20- ^lkaiznkf;drk ;k rks 'kfä la?k"kZ ds dkj.k mHkj dj vkrh gS ;k vkisf{kd oapu ds dkj.k mHkjrh gSA^ mi;qä 

mnkgj.kksa dks izLrqr djrs gq, rdZ nhft,A ¼mŸkj 250 'kCnksa esa nsa½ 

‘Communalism arises either due to power struggle or relative deprivation.’ Argue by 

giving suitable illustrations. (Answer in 250 words)    

  

 

 


